Astronomy 2 Tutorials session 2002-03

Tutorial 6 Model Answer
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(b)
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Total number  NH  of neutral H atoms > N2 so mass of H > N2 x mp; therefore mass of H in Galaxy MH > 5.9x1040kg = 2.9x1010M( 

(c) 

 
[image: image3.wmf]nm

748

)

/(

2

ln

2

2

21

=

=

D

c

m

kT

p

TH

l

l


(d)
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So 
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i.e. 
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(e)

Some material is moving across the line of sight, so zero Doppler shift

Some material is moving along the line of sight, giving Doppler shift (
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, where vrot is the Galactic rotation speed at the sun = 
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which is very much greater than 
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